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General Instructions:
(1) Question paper comprises five Sections — A, B, C, D and E. There are 34 questions in the question paper.

All questions are compulsory.
(i1) Section A — Question 1 to 21 are MCQs of 1 mark each.
(ii1) Section B — Question no. 22 to 27 are Short Answer Type Questions, carrying 3 marks each. Answer to

each question should not exceed 60-80 words.
(iv) Section C - Question no 28 to 30 are Long Answer Type Questions, carrying 8 marks each. Answer to

each question should not exceed 300-350 words.

(v) Section D — Question no.31 to 33 are Source based questions with three sub questions and are of 4 marks
each.

(vi) Section E - Question no. 34 is Map based, carrying 5 marks that includes the identification and Location
of significant test items. Attach the map with the answer book.

(vii) There is no overall choice in the question paper. However, an internal choice has been provided

in few questions. Only one of the choices in such questions has to be attempted.

(viii) In addition to this, separate instructions are given with each section and question, wherever necessary.




Section - A

W YhI{ YRaT Objective Type Questions
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FoTTer 16T T GeiT § o RIS 60 ?

a) FAifh FHaler ATT AT F 310F TR I 97|
b) FIITh HINST QAT hA ATl AT

c) FIR FHairer e AT 2|

d) 38 & g ot 8T |

Why were the Mongols defeated by the Egyptian army?

a) Because Mongol rulers began to take more interest in China.
b) Because the Mongol army was less equipped.

c) Because Mongols were less developed.

d) None of the above.

HIeT a1 ST5T h AT ARTSNGT bl IR ATAT o J AR g3 A

Ed O [oI=8 g STrar ar:
a) 371sT
b) S
c) ArgeT
d) T
The Mongols travelled with their herds to pasture lands and lived in tents called:
a) Anda
b) Gers
c¢) Noyans
d) Yasa

gdloT WleT & dlel UX TdoTT ATCd el & YATH &h qIRTeT, 37T
afaHT T R e feham ar ar
a) 9 f&3m
b) Sffet
c) HaT T1aer
d)
During Genghis Khan's attempt to conquer China, North Western Provinces was ruled by
a) Hsi Hsia
b) Jurchen

¢) Sung dynasty
d) Ogodei

1180 3 1190 & &RIeh & ARTed, dHTSTT (ST WleT) T He AT

Through the 1180s and 1190s, Temujin (Genghis Khan) remained an ally of
a) Boghurchu

b) Jamuqa

c) Kereyits

d) Ong Khan

Mol o M T ___ AT 10T




a) shurd

b) e del
c) SIthr

d) g & Sciel

The Mongols imported  from China.
a) Cotton

b) Crude Oil

c) Coftee

d) Iron Utensils

TAF=TTA T & 8 ohlel AT Fel GAToId o161 67

e A i B

a) AT TRE (i)STreiT o 9IS GaRT TUMOT 9
b)é’itvr (i) FMforaTs &7 & grg T RfAT &

(iii) € WH‘%‘H&T%W?—T
_€ITC|Tﬁ°'€I’rt|T SI3TTAT 31T Ueh e |

d) I g iv) HfgT el

Which among the following is Correctly not matched?

Column A Column B

a) Golden horde (1) confederacy established by decendants of Jochi.

b) Gerege (i1) Meant for pass or permit in mongolian.

¢) Qubcur (ii1) A tex imposed on traders provided with trading facilities.
d) Yasa (iv) code of law

TaTol TTeT of TAMYX el o[Col 37X oT5C ohiat h NG LT ol 16T ?
(a)?zﬁ%wmﬂsmwmwml
(b)a@%ﬁ%wﬁﬁmﬁmﬁwd q 3hR A fear|
(c) FIF & 3T 7 e T @ A

(d) 3IeFd 7 & F1S A6

Why Genghls Khan commanded to plunder and destroy Nishapur?
(a) Because a Mongol prince was killed.

(b) Because Nishapur refused to export agricultural produce.

(c) Because they were developing industries.

(d) None of the above.
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NOTE: The following question is for the visually impaired candidates in lieu of
Question number 8.

IToTel WTeT, T3loT Wlel o d2leT o I § AT
Ghazan khan, descent of Genghis Khan was through the lineage of .

"G, 319 TehdTedl ohl AT hid & 3elch Sl IR SToll ohl of of AR
3oTehT Bl ell T STHIA & e &, aY 3T JfasTy & 31 2" Ig
U fhdel FHaT?
a) TSl WieT
b) ITSTeT WeT

c) HITTS Wie
d)zl?l?n'é@m

“If you insult the peasantry take their oxen and seed and trample their crops into the ground,
what will you do in the future?” Who said this statement?

a) Genghis Khan

b) Ghazan Khan

¢) Qubilai Khan

d) Chaghatai khan
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hieT TI/A HUT el 2/8?

A-i 3ii

B- iii 31T iv

C- ii 3 i

D- i 3iKiv

Consider the following statements in respect of the Clergy:

i. The Catholic Church had its own laws, owned lands given to it by rulers and could not
levy taxes.

ii. Everyone could become a priest and after became priest he could marry.
iii. Some ceremonies conducted by the Church copied formal customs of the feudal elite.

iv. The Church was entitled to a tenth share of whatever the peasants produced from their

land.
Which statements is /are correct?

A. 1and i1
B. iii and iv
C. ii and iii

D. iandiv
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el AT JTeR Al HAATG h Hell IX dGel IR 3eich YalollIdd gled
T Udieh g7

A - de AT

B - fohTd T

C-3TX

D. - el g

Which festival marked the crucifixion of Christ and his rising from the dead?
A. Saint Maria
B. Christmas

C. Easter
D. Black day _ _ i

12 |39ciS & Sidgld oh daY H TdFod T dd hell U TddR ol |
frFAfafad & @ wiet a1 T 76T &7
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D) Taoil-derde ferdret faffiest TR & ${fAERenl & fhi—igR oo
a7
Consider the following statements in respect of the history of England. Which of the
following is not correct?
(A) The country’s name, England, is a variant of ‘Angle -land’.
(B) The Angles and Saxons, from central Europe, had settled in England in the sixth century.
(C) Germany and England were often at war because of disputes over territory and trade.
(D) Anglo-Saxon peasants became tenants of various levels of landholders.

13 |TIQ aﬁgmwaﬁmwmwmmaﬂmﬂm
{81 H bl &I ST AT, Al g Ueh GIG S oIl AT | (Tar /
ITeTd)

If a serf could stay for one year and one day without his lord discovering him, he would
become a priest. ( True / False )

T4 [=1Td &1 el 16U 31T &, Ueh ol AR (A) AR GAR ol HRUT (R)

& &7 # Rfcea rar mar g:
THBUA (A) : BHAT ST 3T Tl BIET 86 IAT 3 3HP HROT
Y el YeTaR e gl 1]
HROT (R) : sd’r@rmaﬁ%mva‘rﬁrara%aﬁramwaﬁm
g% HRUT YIS ﬁtaﬁmﬁm%é
|)EﬂT-IT(A)3-ﬁT(R aerg B-ﬁT(R ?A)a%rué’r—am%l
ii) &l (A R) TET & 31T (R) (A) T TEY sTr&am 81 &
i) (A)ﬂ't?f%‘@lﬁw_wf H%’fc?l??f%‘l
iv) ( R)W%W(A)Hﬁaﬁﬁl

Given below are two statements one labeled as assertion (A) and the other labeled as Reason
R):

Assertion (A): A shortened growing season for crops, and reduced yields from agriculture.
Reason (R) : An intensely cold climatic spell in 5th to 10th century. This led to severe and
prolonged winters.




1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

i1) Both (A) and (R) are correct and (R) is not the correct explanation of (A).
ii1) (A) is correct but (R) is not correct.

1v) (R) Is correct but (A) is not correct.
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i) &l (A) 3R (R) Fel & 3R ()(A)a?rﬂé’r—am%l ,

i) Q1T (A) 3T (R) TET 8 3R (R) (A) T FeT TISEHIIT 771 8|

ii) (A)H??f%ﬁﬁw_vr H%‘rc?l%‘r%l

iv) (R W%W(A)Hﬁraﬁrﬁl

Given below are two statements one labeled as assertion (A) and the other labeled as Reason
(R):

Assertion (A): All abbeys were single-sex communities, that is, there were separate abbeys
for men and women.

Reason (R): This was done for the moral and character stability of men and women.

i. Both (A) and (R) are correct and (R) is the correct explanation of (A).

i1. Both (A) and (R) are correct and (R) is not the correct explanation of (A).

iii. (A) is correct but (R) is not correct.

iv. (R) Is correct but (A) is not correct
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Assertion (A)- A front door that did not open towards another house was lucky.

Reason (R) if the main wooden door of a house opened outwards (instead of inwards), the
wife would be a torment to her husband.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

ii. Both (A) and (R) are correct and (R) is not the correct explanation of (A).

i11. (A) 1s correct but (R) is not correct.

iv. (R) Is correct but (A) is not correct
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C. o cicClHc H SHch HoH o hROT HATIICTTHIT SNIHTA elldll h

T FgcaqoT o)
d. TR & A 3R Feare AR # v ghR A 4qs A
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1. a,bandc
1i.a,cand d
111 b, cand d

iv. Sﬁﬂﬁﬂﬁﬁ I

Which statements is/are true:

a. The first Mesopotamian tablets were written around 3300 BCE , which contained picture
liked signs and numbers.

b. These were about 5000 lists of oxen, fish, bread, loaves, etc. lists of goods that were
brought into or distributed from the temples of Uruk.

c. Mesopotamia was important to Europeans because of references to it in the New
Testament.

d. Travelers and scholars of Europe looked on Mesopotamia as a kind of ancestral land.
1. a,bandc

ii.a,cand d

1i. b,cand d

iv. All of them
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el AT A Acd o/a. ‘
UHT TATS & IR H AFATTET HUT R TR Y
a. Tohol IRAR T YdoleT |

b. IRAR & g M giFATT & |

C. dolTeh 3T9&TTehd 3TTHTT 2AT|

d. enfeat 3me ik I aF 7 e o |

1. a,bandd

2.b,candd

3.a,bandc

4. 3Ugerd Hafr

Which statement(s) is/ are true?
Consider the following statement about roman society:

a. Prevalence of nuclear family.
b. Slaves were included in the family.
c. Divorce was relatively easy.

d. Marriages were generally arranged.

1. a,band d
2.b,cand d
3.a,bandc
4. All of them
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C. ald ond

d. $TH | PIS TeT

Read the following information and identify the system to the supply of slaves:

“The practice of encouraging female slaves and their partners to have more children, who
would of course also, are slaves”.

a. Slave marriage

b. Slave breeding

c. Slave purchasing

d. None of these

20 sws YH HT THTT T Mol TH &o ITT...
a) Igoll QATeCT 3.9,
%i?%g' NS
(c
(d) Ty %l?na?r é cr
Christianity became the state religion of Roman Empire in the...
(a)lst century CE.
(b) 2nd century CE.
(¢) 3rd century CE.
(d) 4th century CE
271 | TondeT THHIILRT ol Toh "dTANHAAT bl 3Ueh0N X JTSTRT <hl
RFEIT 3SR IWAT MR, IART T F GIAT, TR ScdTerd
R &Y Tk, T ET 419 3 T o g1fet QT IEq3HT BT elTed
s g7
a. 3TECT
b. Sl
-col
d. effew
Who recommended that” landowners should keep a reserve stock of implements and tools,
twice as many as they needed, so that production could be continuous, for the loss in slave
labour time exceeds the cost of such items?”
a. Augustine
b. Columella
¢. Draco
d. Tacitus
Section - B
W SIRoT Short Type Questions
20 [“ETaToN AATATeaa] & 1Y &8 S Tehel & T8 ol A1 [ 58

T FA-FlT T FRF FRERT A2

“Agriculture in South Mesopotamia was sometimes subject to hazards”. Which factors were
responsible for it? Explain.

OR
“FATIIIAAT & e AR Shaed T Aged & A THTH F$ FASAT
3R HERt & T TY-TY T A | SHY T T q2d
3ol £|i3ﬂ|

“Mesopotamians valued city life in which people of many communities and cultures lived
side by side.” Mention some of the facts regarding this.
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dlET Adleql H I[HA THTST bl ShIthl Hohc hl GTHAT hiddl Ysli
AT| =TT I ST

Explain the Roman empire faced a lot of strain in the third century.

24

ol W ohl Yo 3T edAT AT AT ?

What were the military achievements of Genghis Khan?

25

THWWHWWWWH?WWWW
?

What arrangement did the mongol's make in their Empire for connecting the distant areas?

26

TAGT AATSET o GRTeA cAehellehl TR cIoll o 1Y ol Tehd FehX
gaTfad fhar?

How did technological changes affect agriculture during 11th century?

“HEgehTollel JUUIT FATS 353-|ddld ATSe e fAfRISe Hog &t
7| FIT?

“Knights became a distinct group under medieval European society”. why?

2/

$hdgel b 3¢ h IR H TdEdR G Il |

Discuss in detail about the emergence of Cathedrals.

Section - C

Il 3T U Long Type Questions
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HAICTHAT H W shell ohl TdehlH hdH 831T? 2600 sATYI H
Uge UTTeST ST dh AANANSTEAT & o= 3R 9T & Sl I
qRadeT 3TT?

How did the art of writing develop in Mesopotamia? Which changes came in Mesopotamian
writing and language from 2600 BC to the first century CE?

WWWQWWQWU#§W3T$W?WH?&TEH
ool H|

Mention some of the facts regarding Ur, one of the earliest cities to have been excavated.
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JHAT GATST H GIAT bl 1 TTeT AT X 3edch AT Tohd HhiX onl
cIdgR [T AT A1 ?

What Social Status did the slaves hold in the Roman society and how they were treated in

OR
IR qTERTel ¥ T AU & ? et & JrAdy arelredy 3. & #7ey
%Wﬁaﬁa i T arffen, 3T q2r wemafas
gT ?

What is meant by Late antiquity? Which religious, Economics and administrative changes

the society?

were made during 4th to 7th CE in Roman Empire?
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HEThTelle] JIT H ATEIT F3T 37UAT SHIRADRI b Slide] hl SATEI
Y |

Describe the third order or life of cultivators in medieval Europe.

OR
“14dT QICTSEY ST &I Teh, JUT T 3T TaEAR AT 8F arar|
SHF U T HROT A?




“By the beginning of the 14th century, the economic expansion of Europe slowed down”.
What were the reasons behind it?

Section - D

AT TR 92T Source Based Questions
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The Warka Head
This woman’s head was sculpted in white marble at Uruk before 3000 BCE. The eyes and
eyebrows would probably have taken lapis lazuli (blue) and shell (white) and bitumen (black)
inlays, respectively. There is a groove along the top of the head, perhaps for an ornament.
This is a world-famous piece of sculpture, admired for the delicate modelling of the woman’s
mouth, chin and cheeks. And it was modeled in a hard stone that would have been imported
from a distance.
Questions:
(i) Where was the woman’s head sculpture discovered? How old was this?
(ii) What were its unique characteristics?
(iii) Why is it a world famous sculpture?

—_—

—
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The Capture of Bukhara

Juwaini, a late-thirteenth-century Persian chronicler of the Mongol rulers of Iran, carried an
account of the capture of Bukhara in 1220. After the conquest of the city, Juwaini reported,
Genghis Khan went to the festival ground where the rich residents of the city were and
addressed them: O people, “ Know that you have committed great sins, and that the great
ones among you have committed these sins. If you ask me what proof I have for these words,
I say it is because I am the punishment of God. If you had not committed great sins, God
would not have sent a punishment like me upon you”. Now one man had escaped from
Bukhara after its capture and had come to Khurasan. He was questioned about the fate of the
city and replied: “They came, they [mined the walls], they burnt, they slew, they plundered
and they departed.”

Questions:

(i) By whom is the above passage written? What does he describe in it?

(ii) What do you know about Genghis Khan?

(iii) What did Genghis Khan say to the conquered people?
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HOT A, TUHT & 73 JeAIAT alol Ueh digiend o7
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3. a1 yfficy #al & 1 faf@u|

In Benedictine monasteries, there was a manuscript with 73 chapters of rules which were
followed by monks for many centuries. Here are some of the rules they had to follow:
Chapter — 6 : Permission to speak should rarely be granted to monks.

Chapter — 7 : Humility means obedience.

Chapter — 33: No monk should own private property.

Chapter — 47: Idleness is the enemy of the soul, so friars and sisters should be occupied at
certain times in manual labour, and at fixed hours in sacred reading.

Chapter -48: The monastery should be laid out in such a way that all necessities be found
within its bounds: water, mill, garden, workshops.

Questions:

1. What does humility mean?

2. What does chapter 47 say?
3. Write the name of two well known monasteries.

—_—

Section - E

HATATIT TR 927 Map Based Questions
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i@ 1 Taeiifas [92g AT A, B 31 C W fe@v 3R
38 AR W D 3R E TUTAT Y ggret Y 3R 3ot A1 ford |
A. 9Tl

B. UH

C. PleEcTeaATTol

D. Ueh TUTT STGT hiToceh HTST St Sirar &Y |

E. Teh OHT TUT STgT ATHIOT Sollehl H FI9aTd caTdeh T |

Show the following on the political world map A, B and C and on the same map identify the
places and write their names D and E.

A. Gaul

B. Rome

C. Constantinople

D. A place where was spoken coptic.

E, A place where transhumg:_ce was widespread in the countryside.

Alc: T2l HEAT 34 & TUTA W e giseanted
3Fleart & fAT gl

NOTE: The following question is for the visually impaired candidates in lieu of
Question number 34.

i) 3G TUTT T 3ooll Y STgT TUTSIH T YT 33TT AT
i) AT FHTST & FGT T o1 QT

iii) SPleEccTgel shl TSTHTeAT &l AT T QT

iv) ST T qRTT AT |

V) dg TTeT Slgl Y STATH ol 3¢ §34TI

1) Mention that place where grew papyrus plant.
i1) Write the name of the heart of Roman empire.

[ . (N U .




ii1) Write the name of constantine's capital.
1v) Old name of France.
v) The place where Islam emerged.




